H16 No.9 ('04/5/13)

. 1) 1X—dx x*=x*-1+1
+ X

4 3

X x*—1+1 1 X
dx = dx = x2 1)+ dx = =— - x+tan *x+C
~[1+ x2 I 1+ x? I(( ) 1+ xzj 3

2) Exz log(1+ x*)dx

3
—IO——dZX x—9|oglO—g —d

[ % 1og(1+ x*)dx = [ X (14 x2)dx = | X log(1+ x?)
0 o 3 3 31+ 3h1i e

0
4 X3 8

1) j—dx: Z__x+tan'x| =6+tan'3
01+ x* 3 o

josxz log(1+ x2)dx = 9log 10 —%(6+ tan 3)=9log 10 - 4—§tan 3

n-2 dX

r n-
1. 1) IOZ cos" xdx =
n

Va T T T
I, = IOZ cos" xdx = IOZ cos" ! x- (sin x)'dx = [cos"* x-sin xJ¢ — .[02 (n—1)cos"? x-(-sin x)-sin xdx

=(n-1) J:; cos™2 X (1 cos? xJdx = (n— 1}{]'02 cos"? xdx — | n}

o :szcosnz xdx = (n-1) s
n 0

n

z n-in-3 42 ( Odd)
2) joz cos" xdx =4 _ ”1 n”_—32 3513” |
o2 a2z (Mieven)
. | (n 1)I :(n—l)(n—3)| o :(n—l)(n—S)H.ﬂg
" n " n (h-2 "™ n (n-2) 53°
j cos’ xdx = [sin x[z =1 |n=(nr:1)g::3%§
. | :(n—l)l (-1 (n-3) _ :(n—l)(n—3)m§1
" n " n (n-2)"* n (n-2) 42°
z (n-1)(n-3) 31z




